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Adnp vs RBC_ctrl, limma
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¥ RBC_ctrl_IP0O3

RBC_ctrl
Adnp_IP04
Adnp_IP06

Adnp
X RBC_ctrl_IP02

A Adnp_IPO5
4+ RBC_ctrl_IPO1

sample
u

NA

-, dagy

-7dagy

-8lINEO ceIN

76,063 SeIN

- CEIN

-r8BAHM84 TelN

-ECXd6a TeIN

-8A2z60O cPAIN

-7 LAEA EPAN

- CPAN

-dcpereo

up

==

- ¢9EPH

«

- TORPH

mouse: Gatal-Fogl-MeCP1 complex

-PUO

2.0e+09 1

1.5e+09 -
1.0e+09 -
0.0e+001

o
=)
+
o
Q
T
N

Ausuaulrd4IxeN as —/+ ues



—log10(p-value)
e

Adnp vs RBC_ctrl, limma
Adj.p threshold = 0.05, |log2FC| threshold = 1

»
Chd4

Hdacl
o«

A
Hdac?2

df.prior =4.4

-5 0 5
log2(fold change)
mouse: lkaros complex, PValue = 0.000949, FDR = 0.0103



mouse: Ikaros complex

up NA
| ]

2.0e+09 1 -
2 1.5e+09-
&
o I RBC_ctrl
+—
c Adnp
(@4
LL
?él sample
S 1.0e+091 ® Adnp_IP04
() A Adnp_IPO5
7))
| ®  Adnp_IP06
~~
+ + RBC_ctrl_IPO1
c
8 X RBC_ctrl_IP02
= % RBC_ctrl_IP0O3

5.0e+08

0.0e+00 - ﬁ —

Chd4
Hdac1 -
Hdac2
Rbbp4 -



—log10(p-value)
e

Adnp vs RBC_ctrl, limma
Adj.p threshold = 0.05, |log2FC| threshold = 1

Chd4
v

Hdacl
v

Hdac?2
v

df.prior =4.4

. 5 5
log2(fold change)
mouse: Ikaros—NuRD complex, PValue = 0.000949, FDR = 0.0103



mouse: Ikaros—NuRD complex

up

2.0e+09 1

1.5e+09 1

1.0e+09+

Mean +/— SD MaxLFQ.intensity

5.0e+08 1

0.0e+00 1

Chd4 A

Hdacl A

Hdac?2 -

. RBC_ctrl
. Adnp

sample

Adnp_IP04
Adnp_IP05
Adnp_IP06
RBC _ctrl_IP0O1
RBC_ctrl_IP02
RBC_ctrl_IP0O3

> e

¥ X + =



—log10(p-value)
e

Adnp vs RBC_ctrl, limma
Adj.p threshold = 0.05, |log2FC| threshold = 1

Chd4
v

.
Hdacl

A
Hdac?2

df.prior =4.4

-5 0 5
log2(fold change)
human: MeCP1 complex, PValue = 0.000949, FDR = 0.0103



human: MeCP1 complex

up NA
2.0e+09-
>
% 1.5e+091
[
Q
=
@4
LL
|
x
(]
< 1.0e+09-
a)
%)
J
+
[
®
()
< 5.0e+081
0.06+00 ﬁ e
i 3 3 & 3§ F & § 1 =
5 § 8 T £ £ 8§ £ 5 3
T T % = e > 4 v
O [ o
o o
O ©
0 o)
S S

RBC_ctrl
Adnp

sample

> e

¥ X + =

Adnp_IP04
Adnp_IP05
Adnp_IP06
RBC_ctrl_IP0O1
RBC_ctrl_IP02
RBC_ctrl_IP03



—log10(p-value)
e

Adnp vs RBC_ctrl, limma
Adj.p threshold = 0.05, |log2FC| threshold = 1

Chd4
v

.
Hdacl

A
Hdac?2

df.prior =4.4

- ; 5
log2(fold change)
human: MeCP1 complex—variantl, PValue = 0.000949, FDR = 0.0103



human: MeCP1 complex—variantl

up NA
2.0e+09 1
Pan
‘0 1.5e+09 A
c
2
£
o
LL
—
P
©
< 1.0e+09-
a
n
J
+
c
(qv]
(]
= 5.0e+081
0.0e+001 ﬁ *
< é N o N < I~
o] (&) ) e} © o o
c ] @© o = o o
O o k= s = o o
I I o o

Mbd3.D3YTR4 A

Mbd3.Q922D8 -

RBC_ctrl
Adnp

sample

> e

¥ X + =

Adnp_IP04
Adnp_IP05
Adnp_IP06
RBC_ctrl_IP0O1
RBC_ctrl_IP02
RBC_ctrl_IP03



—log10(p-value)
e

Adnp vs RBC_ctrl, limma
Adj.p threshold = 0.05, |log2FC| threshold = 1

»
Chd4

Hdacl
«

A
Hdac?2

df.prior =4.4

-5 0 5
log2(fold change)
human: Mi2/NuRD complex, PValue = 0.000949, FDR = 0.0103



human: Mi2/NuRD complex

up NA
| ]

2.0e+09+ _
>
% 1.5e+091
c
9 RBC_ctrl
c Adnp
e
?Icé sample
S 1.0e+091 ® Adnp_IP04
9) A Adnp_IPO5

| ®  Adnp_IP06
~~
+ + RBC_ctrl_IPO1
c
8 X RBC_ctrl_IP02
= 5.0e+08 % RBC_ctrl_IPO3

0.0e+00 ﬁ &

Chd4 -
Hdac1 -
Hdac2 -
MtaZ2
Rbbp4 -
Rbbp7 4

Mbd3.D3YTR4 A
Mbd3.Q922D8 A



—log10(p-value)
e

Adnp vs RBC_ctrl, limma
Adj.p threshold = 0.05, |log2FC| threshold = 1

Chd4
v

.
Hdacl

Hdac?2
v

df.prior =4.4

-5 0 5
log2(fold change)
human: MTA2 complex, PValue = 0.000949, FDR = 0.0103



human: MTA2 complex

up NA
| ]

2.0e+09+ _
>
% 1.5e+091
c
9 RBC_ctrl
c Adnp
e
?Icé sample
S 1.0e+091 ® Adnp_IP04
9) A Adnp_IPO5

| ®  Adnp_IP06
~~
+ + RBC_ctrl_IPO1
c
8 X RBC_ctrl_IP02
= 5.0e+08 % RBC_ctrl_IP03

0.0e+00 ﬁ *

Chd4 -
Hdac1 -
Hdac2 -
Mta2 -
Rbbp4 -
Rbbp7 4

Mbd3.D3YTR4 A
Mbd3.Q922D8 A



—log10(p-value)
e

Adnp vs RBC_ctrl, limma
Adj.p threshold = 0.05, |log2FC| threshold = 1

Chd4
v

Hdacl
o«

Hdac?2
v

df.prior =4.4

-5 0 5
log2(fold change)
human: NuRD.1 complex, PValue = 0.000949, FDR = 0.0103



human: NuRD.1 complex

up NA
2.0e+09
>
% 1.5e+091
[
g
£
o
(I
—
<
@
< 1.0e+09-
(|
0p)
L
+
c
©
O
= 5.0e+08
0.06+00 ﬁ L
3 4 S 3 @ ? © 3 S T B
© o] ) o) o
5 & ¢ £ § £ = & g £ £
I L ™ o o) o o 0 @
a o L g L o
y — - o
E 2 & @ & £
= = = s =

RBC_ctrl
Adnp

sample

> e

¥ X + =

Adnp_IP04
Adnp_IP05
Adnp_IP06
RBC_ctrl_IP0O1
RBC_ctrl_IP02
RBC_ctrl_IP03



—log10(p-value)
e

Adnp vs RBC_ctrl, limma
Adj.p threshold = 0.05, |log2FC| threshold = 1

»
Chd4

A
Hdac?2

df.prior =4.4

- ; 5
log2(fold change)
human: ATR-HDAC2-CHD4 complex, PValue = 0.00101, FDR = 0.0103



human: ATR-HDAC2-CHD4 complex

up

2.0e+09 1

1.5e+09 1

1.0e+09+

Mean +/— SD MaxLFQ.intensity

5.0e+08 1

0.0e+00 1

Chd4 A

Hdac?2 -

. RBC_ctrl
. Adnp

sample

Adnp_IP04
Adnp_IP05
Adnp_IP06
RBC _ctrl_IP0O1
RBC_ctrl_IP02
RBC_ctrl_IP0O3

> e

¥ X + =



—log10(p-value)

IN

Adnp vs RBC_ctrl, limma

Adj.p threshold = 0.05, |log2FC]| threshold = 1

df.prior =4.4

Chd4
v

)
Hdac?2

0 5
log2(fold change)
human: CDH4-HDAC2-MTA2-RBBP7-TWIST1 complex, PValue = 0.00101, FDR = 0.0103



human: CDH4-HDAC2-MTA2-RBBP7-TWIST1 complex

up

NA

2.0e+09

1.5e+09 -

1.0e+09 -

Mean +/— SD MaxLFQ.intensity

5.0e+08 1

0.0e+00 1

RBC_ctrl
Adnp
sample

Adnp_IP04
Adnp_IP05
Adnp_IP06
RBC_ctrl_IP0O1
RBC_ctrl_IP02
RBC_ctrl_IP03

> e

¥ X + =

Chd4 -

Hdac2

Mta?2

Rbbp7 -



—log10(p-value)
e

Adnp vs RBC_ctrl, limma
Adj.p threshold = 0.05, |log2FC| threshold = 1

Chd4
v

Z(mym3

Hdacl
o«

Kdm1la“* N
Zmym?2

Hdac2
v
Gsel
v

df.prior =4.4

-5 0 5
log2(fold change)
human: Anti-HDAC?2 complex, PValue = 0.00147, FDR = 0.0141



human: Anti—-HDAC2 complex

down up NA
2.0e+09+
Pan
‘» 1.5e+09 -
C
g
£
o
LL
—
X
©
S 1.0e+094
o
7))
4
+
C
@
(]
= 5.0e+08
[ |
0.0e+00-‘ﬁ'-‘- ﬁ éj
B I gz ¥ 0§ g @ ¥ T 5
3 s T © £ =2 2 s £ 3
T T N 1S E 2 o

Mtal.E9PX23-

Mtal.F8WHY8 -

. RBC_ctrl
. Adnp

sample

> e

¥ X + m

Adnp_IP04
Adnp_IP05
Adnp_IP06
RBC_ctrl_IPO1
RBC_ctrl_IP02
RBC_ctrl_IP03



—log10(p-value)

IN

Adnp vs RBC_ctrl, limma

Adj.p threshold = 0.05, |log2FC]| threshold = 1

df.prior =4.4

Chd4
v

Hnrnpg.Q92204—3

Hdacl
«

Hdac?2
v

?
Actb

0 5
log2(fold change)
human: LARC complex (LCR—-associated remodeling complex), PValue = 0.00173, FDR = 0.0152



Mean +/— SD MaxLFQ.intensity

human: LARC complex (LCR-associated remodeling complex)

up NA
2.0e+09- =
1.5e+09 . RBC_ctrl
. Adnp
A
b sample
1.0e+09 - ® Adnp_IP04
A Adnp_IPO5
®  Adnp_IP06
4+ RBC_ctrl_IPO1
® RBC_ctrl_IP02
5.0e+08 1 % RBC_ctrl_IPO3
0.0e+00 1 ﬁ ==

Actb -

Chd4 -

Hdacl -

Hdac?2 -
Hnrnpc.Q92204-3 -
Gatad2b -
Hnrnpc.Q92204-5
Mbd?2 -
Mbd3.D3YTR4 -
Mbd3.Q9Z2D8 -
Mta2 -

Rbbp4 -



—log10(p-value)
e

Adnp vs RBC_ctrl, limma
Adj.p threshold = 0.05, |log2FC| threshold = 1

Chd4
v

Hdacl
«

»
Trim28

)
Lmnb1

‘Actb

df.prior =4.4

- ; 5
log2(fold change)
human: Emerin complex 32, PValue = 0.00177, FDR = 0.0152



human: Emerin complex 32

up
2.0e+091 —
2 1.5e+09+
&
o I RBC_ctrl
+—
c Adnp
(@4
LL
?él sample
S 1.0e+091 ® Adnp_IP04
() A Adnp_IPO5
)]
| ®  Adnp_IP06
~~
+ + RBC_ctrl_IPO1
c
8 X RBC_ctrl_IP02
= % RBC_ctrl_IP0O3
5.0e+08 -
0.0e+00+

Actb
Chd4 -
Hdac1l-
Lmnb1 -
Trim28 -



—log10(p-value)
e

Adnp vs RBC_ctrl, limma
Adj.p threshold = 0.05, |log2FC| threshold = 1

y
Cbx3

t|spa8
Fbl

A
Smarcab

‘Rsfl

df.prior =4.4

-5 0 5
log2(fold change)
human: CEN complex, PValue = 0.00207, FDR = 0.0169



intensity

Mean +/— SD MaxLFQ

human: CEN complex

up NA
5e+09 -
4e+09 -
3e+09-
2e+09+
1e+09+
5 & 8 & % '
5 - 3 : : i3 < £ @
T g T x
0

. RBC_ctrl
. Adnp

sample

> e

¥ XK + m

Adnp_IP04
Adnp_IP05
Adnp_IP06
RBC_ctrl_IPO1
RBC_ctrl_IP02
RBC_ctrl_IP03



—log10(p-value)

IN

Adnp vs RBC_ctrl, limma
Adj.p threshold = 0.05, |log2FC| threshold = 1

df.prior =4.4

Hdac2
«

Actbr

»
Chad4

0
log2(fold change)

mouse: PYR complex, PValue = 0.00842, FDR = 0.0653



mouse: PYR complex

up

NA

2.0e+09

1.5e+09 -

1.0e+09 -

Mean +/— SD MaxLFQ.intensity

5.0e+08 1

0.0e+00 1

Actb -

Chd4 -

Hdac2

Rbbp7 -

RBC_ctrl
Adnp
sample

Adnp_IP04
Adnp_IP05
Adnp_IP06
RBC_ctrl_IP0O1
RBC_ctrl_IP02
RBC_ctrl_IP03

> e

¥ X + =



